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<p>[RMHEE <a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.tuhaoxin.c

%2Farticles%2F2019%2F06%2F19%2F1560959895117.html" target="_blank" rel="nofollow ug

">[&H LeetCode] 350. Intersection of Two Arrays li</a></p>

<p><strong>Description:</strong></p>

<p>Given two arrays, write a function to compute their intersection.</p>

<p><strong>Example 1:</strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl">Input: nums1 =[1,2,2,1], nums2 = [2,2]

</span></span><span class="highlight-line"> <span class="highlight-cl">Output: [2,2]

</span></span></code> </pre>

<p><strong>Example 2:</strong></p>

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight

cl">Input: nums1 = [4,9,5], nums2 = [9,4,9,8,4]

</span></span><span class="highlight-line"> <span class="highlight-cl">Output: [4,9]

</span></span></code></pre>

<p><strong>Note:</strong></p>

<ul>

<li>Each element in the result should appear as many times as it shows in both arrays.</li>

<li>The result can be in any order.</li>

</ul>

<p><strong>Follow up:</strong></p>

<ul>

<li>What if the given array is already sorted? How would you optimize your algorithm?</li>

<li>What if nums1 ' s size is small compared to_ nums2_' s size? Which algorithm is better?

/li>

<li>What if elements of nums2_are stored on disk, and the memory is limited such that you c

nnot load all elements into the memory at once?</li>

</ul>

<hr>

<p>Ri&: AR <a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.tuhaoxin.
n%2Farticles%2F2019%2F06%2F19%2F1560958327722.html" target="_blank" rel="nofollow

gc">[EH LeetCode] 349. Intersection of Two Arrays</a> BURIHIR, ARERBRAITEEES

=], I m 349 MREXREEEFHN—. BRMEE, T </p>

<ul>

<li>

<p>REi&—: {FH unordered map A28, XF num1 FRITTEA key FIHIMANRECS value #1745
9;*}:1_}_ % num2, fE map Elﬂﬁatiz NEEINRI R TTERAY value i—, BEBHTEHK. </p>

</ >

<li>

<p>RE_: AJUBSRNEMEERITHER, AEERARNMEL i) BRNSETTR, NRES

IONE res #2HH, HiEME num1 FTEEA, Wik j+1, & i+1, BEFENMEEIAEXEVE

</p>

</li>

</ul>

<hr>

<p>C++ (13 (BEE—) </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl">class Solution {

</span></span> <span class="highlight-line"> <span class="highlight-cl">public:

</span></span><span class="highlight-line"> <span class="highlight-cl"> vector&lt;int&g

; intersect(vector&lt;int&gt;&amp; nums1, vector&lt;int&gt;&amp; nums2) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> unordered
ap&ult;int, int&gt; m;
</span> </span><span class="highlight-line"> <span class="highlight-cl"> vector&lt;int
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gt; res;

</span></span><span class="
ums1)

</span></span><span class="
</span></span><span class="
ums2) {
</span></span><span class="
gt; 0)

</span></span><span class="
(a);

</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="

highlight-line"

highlight-line"
highlight-line"

highlight-line"
highlight-line"
highlight-line"
highlight-line"

highlight-line"
highlight-line"

</span></span></code></pre>

<p>1z{THYE: 8ms</p>
<p>B1TAREF: 9.7M</p>
<hr>

<p>C++ (18 (BEEZ) </p>

><span class="

><span class="
><span class="

><span class="
><span class="
><span class="
><span class="

><span class="
><span class="

highlight-cl"

highlight-cl”
highlight-cl”

highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”

highlight-cl"
highlight-cl"

for (auto a:

++mla];
for (auto a:

if (m[a]--
res.push _bac

}

return res;

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl">class Solution {

</span></span><span class="highlight-line"> <span class="highlight-cl">public:
</span></span><span class="highlight-line"> <span class="highlight-cl">
; intersect(vector&It;int&gt;&amp; nums1, vector&lt;int&gt;&amp; nums2) {
</span></span><span class="highlight-line"> <span class="highlight-cl"

gt; res;
</span></span><span class="

</span></span><span class="
gin(), nums1.end());
</span></span><span class="
gin(), nums2.end());
</span></span><span class="
ums1.size() &amp;&amp; j &lt;
</span></span><span class="
== nums2[j]) {
</span></span><span class="
back(nums1[i]);
</span></span><span class="

</span></span><span class="
ms1[i] &gt; nums2[j]) {

</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="

highlight-line
highlight-line
highlight-line

highlight-line

"><span class="
"><span class="
"><span class="

"><span class="

nums2.size()) {

highlight-line

highlight-line

highlight-line"
highlight-line"

highlight-line"
highlight-line"
highlight-line"
highlight-line"
highlight-line"
highlight-line"
highlight-line"
highlight-line"

</span></span></code></pre>

<p>1z{ThtE: 8ms</p>
<p>izf{TRE: 8.8M</p>

"><span class="
"><span class="
><span class="
><span class="

><span class="
><span class="
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highlight-cl”

highlight-cl"
highlight-cl"

>

>

>

vector&lt;int&g

vector&lt;int
inti=0,j=0
sort(nums1.b
sort(nums2.b
while (i &lt;
if (nums1[i]
res.push
++i; ++4j
} else if (n
++j;
}ehej
++i;
}

}

return res;

<p><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.tuhaoxin.cn%2Ftags%
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FLeetCode" target="_blank" rel="nofollow ugc">LeetCode</a> <a href="https://|d246.com/f
rward?goto=https%3A%2F%2Fwww.tuhaoxin.cn%2Ftags%2FSort" target="_blank" rel="nofol
ow ugc">Sort</a><a href= "https //1d246. com/forward?goto https%3A%2F%2Fwww.tuhaox
n.cn%2Ftags%2FEasy" target="_blank" rel="nofollow ugc">Easy</a></p>

<p><a href="https://|d246. com/forward7goto https%3A%2F%2Fwww.tuhaoxin.cn%2Farticle
%2F201 9%2F06%2F19%2F1 560958327722.html" target="_blank" rel="nofollow ugc">|H—f& <
a></p>

<h2 id="{g" > ¥Fig </h2>

<h2 id="&FHL"> KK </h2>

<h4 id="fEXEE" > HXFiE < /h4>

<ul>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.tuhaoxin.cn%2Farticle
%2F2019%2F06%2F19%2F1560958327722.html" title="[&HLeetCode] 349. Intersection of T
o Arrays" target="_blank" rel="nofollow ugc">[5&H LeetCode] 349. Intersection of Two Array
</a></li>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.tuhaoxin.cn%2Farticle
%2F2019%2F06%2F15%2F1560608390069.html" title="[&HLeetCode] 543. Diameter of Binar
Tree" target="_blank" rel="nofollow ugc">[&H LeetCode] 543. Diameter of Binary Tree</a
</li>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.tuhaoxin.cn%2Farticle
%2F2019%2F06%2F13%2F1560358279796.html" title="[&HLeetCode] 559. Maximum Depth
f N-ary Tree" target="_blank" rel="nofollow ugc">[&H LeetCode] 559. Maximum Depth of N
ary Tree</a></li>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.tuhaoxin.cn%2Farticle
%2F2019%2F06%2F11%2F1560265848953.html" title="[&HLeetCode] 101. Symmetric Tree"
arget="_blank" rel="nofollow ugc">[&H LeetCode] 101. Symmetric Tree</a> </li>

</ul>

<h4 id="REHIEEE-">EHURIE: </h4>

<ul>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.tuhaoxin.cn%2Farticle
%2F2019%2F03%2F09%2F1552138860239.html" title="[HLeetCode] 532. K-diff Pairs in an
rray" target="_blank" rel="nofollow ugc">[&H LeetCode] 532. K-diff Pairs in an Array</a></I
>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.tuhaoxin.cn%2Farticle
%2F2019%2F03%2F05%2F1551792840379.html" title="[&HLeetCode] 665. Non-decreasing A
ray" target="_blank" rel="nofollow ugc">[&H LeetCode] 665. Non-decreasing Array</a> </li

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.tuhaoxin.cn%2Farticle
%2F2019%2F03%2F04%2F1551709181420.html" title="[EHLeetCode] 840. Magic Squares In
Grid" target="_blank" rel="nofollow ugc">[&H LeetCode] 840. Magic Squares In Grid</a> </I
>

<li><a href="https://Id246.com/forward?goto=https%3A%2F%2Fwww.tuhaoxin.cn%2Farticle
%2F2019%2FO3%2F17%2F1552834568669 html" title="[&HLeetCode] 35. Search Insert Posit
on" target="_blank" rel="nofollow ugc">[EH LeetCode] 35. Search Insert Position</a> </li>
<li> <a href="https://|d246.com/forward?goto=https%3A%2F%2Fwww.tuhaoxin.cn%2Farticle
%2F2019%2F04%2F30%2F1556632217252.html" title="[&HLeetCode] 234. Palindrome Linke
List" target="_blank" rel="nofollow ugc">[&H LeetCode] 234. Palindrome Linked List</a></I
>

</ul>

<p><strong>Description:</strong></p>

<p>Given two arrays, write a function to compute their intersection.</p>
<p><strong>Example 1:</strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">Input: nums1 = [1,2,2,1], nums2 = [2,2]
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</span></span> <span class="highlight-line"> <span class="highlight-cl">Output: [2,2]

</span></span></code></pre>

<p><strong>Example 2:</strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl">Input: nums1 = [4,9,5], nums2 = [9,4,9,8,4]

</span></span><span class="highlight-line"> <span class="highlight-cl">Output: [4,9]

</span></span></code></pre>

<p><strong>Note:</strong></p>

<ul>

<li>Each element in the result should appear as many times as it shows in both arrays.</li>

<li>The result can be in any order.</li>

</ul>

<p><strong>Follow up:</strong></p>

<ul>

<li>What if the given array is already sorted? How would you optimize your algorithm?</li>

<li>What if <em>nums1</em> 's size is small compared to <em>nums2</em> 's size? Whi

h algorithm is better?</li>

<li>What if elements of <em>nums2</em> are stored on disk, and the memory is limited su

h that you cannot load all elements into the memory at once?</li>

</ul>

<hr>

<p>Rig: ARME<a href="https://Id246.com/forward?goto= https%3A%2F%2Fwww tuhaoxin.
%2Fart|cles%2F2019%2FO6%2F19%2F1 560958327722.html" target="_blank" rel="nofollow

gc">[EH LeetCode] 349. Intersection of Two Arrays</a> AISUHAR, ABREREERTTELER

(=], | M 349 MRAEKREEEFH—., BB, T </p>

<ul>

<li>

<p>RBE&—: {#F unordered_map &8, XJ num1 FRITTERA key FIHIANRES value HTH
’T*J:L_}_ i num2, 7 map FERK, WHFININITERRT value iBi—, BEIBHZEMK. </p>

</i>

<li>

<p>RR_: LB MIAR I THER, AEERAMNMET i) BRNSIETTR, NRES

IOAE! res B, EREE num1 BITEREA, UEEj+1, B i+1, BERIWNMEFEIEEXEVNE

</p>

</li>

</ul>

<hr>

<p>C++ 1B (BE—) </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl">class Solution {

</span></span><span class="highlight-line"> <span class="highlight-cl">public:

</span></span><span class="highlight-line"> <span class="highlight-cl"> vector&lt;int&g

; intersect(vector&lt;int&gt;&amp; nums1, vector&lt;int&gt;&amp; nums2) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> unordered_
ap&lt;int, int&gt; m;

</span></span><span class="highlight-line"> <span class="highlight-cl"> vector&lt;int
gt; res;

</span></span><span class="highlight-line"> <span class="highlight-cl"> for (auto a:
ums1)

</span></span><span class="highlight-line"> <span class="highlight-cl"> ++mla];
</span></span><span class="highlight-line"> <span class="highlight-cl"> for (auto a:
ums?2) {

</span></span><span class="highlight-line"> <span class="highlight-cl|"> if (m[a]--

gt; 0)
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</span></span><span class="
(@)

</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="

highlight-line"

highlight-line"
highlight-line"
highlight-line"
highlight-line"

</span></span></code></pre>

<p>1z{THJiE: 8ms</p>
<p>1BITHE: 9.7M</p>
<hr>

<p>C++ fXF3 (BEEZ) </p>

><span class="

><span class="
><span class="
><span class="
><span class="

\%

highlight-cl"

\%

highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”

vV V V

|3

res.push_bac

}

return res;

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight

cl">class Solution {

</span></span><span class="highlight-line"> <span class="highlight-cl">public:
</span></span><span class="highlight-line"> <span class="highlight-cl">
; intersect(vector&lt;int&gt;&amp; nums1, vector&lt;int&gt;&amp; nums2) {
</span></span><span class="highlight-line"> <span class="highlight-cl">

gt; res;

</span></span><span class="highlight-line"><span class="

</span></span><span class="highlight-line"
gin(), nums1.end());

</span></span><span class="highlight-line"
gin(), nums2.end());

</span></span><span class="highlight-line"
ums1.size() &amp;&amp; j &lt; nums2.size()) {
</span></span><span class="highlight-line"
== nums2[j]) {

</span></span><span class="highlight-line"
back(nums1[i]);

</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
ms1[i] &gt; nums2[j]) {
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

</span></span><span class="

highlight-line"

</span></span></code></pre>

<p>1z{TAJiE: 8ms</p>
<p>1a1THEF: 8.8M</p>
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highlight-cl">
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highlight-cl">
highlight-cl">
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl"
highlight-cl”
highlight-cl”

highlight-cl”
highlight-cl”
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vector&lt;int&g

vector&lt;int
inti=0,j=0
sort(nums1.b
sort(nums2.b
while (i &lt;
if (nums1[i]
res.push
++i; ++]
} else if (n
++j;
}ebeﬁ
++i;
}

}

return res;
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